Karaganda State Medical University
Chair of foreign languages.

THEME: Sequence of tenses.
The classification of the tooth.

\ Maxillary Teeth

Central incisor

\ ' Lateral incisor

Pt Made student of 2"9 curriculum
ﬂSecondmolar of stomatology specialization:
Ashikbekova M 2006 group
Checked: Dashkina T.G.

Mandibular Teeth

g - Second molar

First molar
J Canine
/ Lateral incisor

/ Central incisor




1 Teeth of humans are small, calcified,
whitish structures found in the mouth that
are used to break down food. The roots of
teeth are embedded in the maxilla (upper
jaw) or the mandible (lower jaw) and are

covered by gums. Teeth are made of ... premo'asrmnd e
multiple tissues of varying density and Lateral incisor |
hardness. Teeth are among the most Central i it moler
distinctive (and long-lasting) features of Sl mojar
mammal species. Humans, like other ,, \ <% Third molar
mammals, are diphyodont, meaning that ‘(

"”’\’ (wisdom tooth)
they develop two sets of teeth. The first set N
(also called the "baby", "milk", "primary”, =
and "deciduous” set) normally starts to Ay
alaﬁear at about six months of age, \ B 7 [
although some babies are born with one or ! / >
more visible teeth, known as neonatal teeth. S
Normal tooth eruption at about six months

is known as teething and can be painful.
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1 The anatomic crown of a tooth is the area covered in
enamel above the cementoenamel junction (CEJ) or
"neck” of the tooth. Most of the crown is composed
of dentin (dentine in British English) with the pulp
chamber inside. The crown is within bone before
eruption. After eruption, it is almost always visible.
The anatomic root is found below the CEJ and is
covered with cementum. As with the crown, dentin
composes most of the root, which normally have
pulp canals. A tooth may have multiple roots or just
one root (single-rooted teeth).
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1 Canines and most premolars, except for maxillary first
premolars, usually have one root. Maxillary first premolars and
mandibular molars usually have two roots. Maxillary molars
usually have three roots. Additional roots are referred to as
supernumerary roots. Humans usually have 20 primary
(deciduous or "baby") teeth and 32 permanent (adult) teeth.
Teeth are classified as incisors, canines, premolars, and molars.
Incisors are primarily used for biting pieces from foods such as
raw carrots or apples and peeled but uncut bananas, while
molars are used primarily for grinding foods after they are
already in bite size pieces inside the mouth. Most teeth have
identifiable features that distinguish them from others.
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1 There are several different
notation systems to refer to a
specific tooth. The three most
common systems are the FDI
World Dental Federation
notation, the universal
numbering system, and Palmer

notation method. The FDI o’ wes
system is used worldwide, and NBea IRRAM
the universal is used widely in O

the United States.
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1 Sequence of tenses (known in Latin as consecutio temporum, and also known as
agreement of tenses, succession of tenses and tense harmony) is a set of grammatical
rules of a particular language, governing the agreement between the tenses of verbs in
related clauses or sentences.

1 A typical context in which rules of sequence of tenses apply is that of indirect speech. If,
at some past time, someone spoke a sentence in a particular tense (say the present
tense), and that act of speaking is now being reported, the tense used in the clause that
corresponds to the words spoken may or may not be the same as the tense that was
used by the original speaker. In some languages the tense tends to be "shifted back", so
that what was originally spoken in the present tense is reported using the past tense
(since what was in the present at the time of the original sentence is in the past relative
to the time of reporting). English is one of the languages in which this often occurs. For
example, if someone said "l need a drink", this may be reported in the form "She said
she needed a drink", with the tense of the verb need changed from present to past.

1 The "shifting back" of tense as described in the previous paragraph may be called
backshifting or an attracted sequence of tenses. In languages and contexts where such
a shift does not occur, there may be said by contrast to be a natural sequence.




In English, an attracted sequence of tenses (backshifting) is often
used in indirect speech and similar contexts. The attracted sequence
can be summarized as follows: If the main verb of a sentence is in
the past tense, then other verbs must also express a past viewpoint,
except when a general truth is being expressed.[1]

For example, if Batman spoke the following words:

| need a special key for the Batmobile.
the speech act may be reported using the following words:

Batman said that he needed a special key for the Batmobile.

with the present tense need replaced by the past tense needed,
since the main verb of saying (said) is in the past tense. Further
examlpqles can be found at Uses of English verb forms: Indirect
speech.
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In some cases, though, a natural sequence of tenses is more appropriate. Here the tense
of a verb in a subordinate clause is not determined by the tense of the verb in the
superordinate clause, but is determined simply according to the sense of the clause
taken apart from the rest of the sentence.[2] The rule for writers following the natural
sequence of tenses can be expressed as follows: imagine yourself at the point in time
denoted by the main verb, and use the tense for the subordinate verb that you would
have used at that time.[3] Thus the tense used in the indirect speech remains the same
as it was in the words as originally spoken. This is normal when the main verb is in the
present or future tense (as opposed to past tense or conditional mood). For example:

Batman says that he needs a special key for the Batmobile. (main verb in present tense)

Batman has said that he needs a special key for the Batmobile. (main verb in present
perfect, not past tense, so no backshifting)

HOV\élever itlis also possible to use the natural sequence even if the main verb is past or
conditional:

Batman said that he needs a special key for the Batmobile.




Thank you for your attention.




